



CERTAIN RESULTS FOR THE HERMITE AND CHEBYSHEV POLYNOMIALS OF 2-VARIABLES

WASEEM A. KHAN

ABSTRACT. In this paper, we introduce Hermite-Chebyshev polynomials of two variables and to give some properties of Hermite and Chebyshev polynomials of two variables. We derive series representation, operational identities, generating functions and power series method by Hermite, Chebyshev and Hermite-Chebyshev polynomials of two variables. Finally, we consider generalized Hermite-Chebyshev polynomials of two variables and explicit representation of Hermite-Chebyshev polynomials of two variables.

1. INTRODUCTION AND PRELIMINARIES

Special functions appear in statistics, Lie group theory and number theory. The Hermite polynomials of the associated generating functions is reformulated within the framework of an operational formalism [5-8]. In the case of generalized special functions, the use of operational techniques, combined with the principle of monomiality [3, 4, 9] has provided new means of analysis for the derivation of the solution of large classes of partial differential equations often encountered in physical problems [10, 14] offers a power tool to treat the relevant generating functions and the differential equations they satisfy. The results are interpreted in terms of single, several variables, single index, index two, three and in turn p -index in terms of Hermite polynomials defined by Srivastava [18, 19]. The reason of interest for this family of Hermite polynomials is due to their intrinsic mathematical importance and to the fact that these polynomials have applications in physics. We recall some definitions as follows.

The generalization of 2-variable Kampé de Fériet polynomials (or, Gould Hopper polynomials) introduced by Gould and Hopper (see [10,p.58,(6.2)])

$$H_n^{(p)}(x, y) = n! \sum_{r=0}^{\lfloor \frac{n}{p} \rfloor} \frac{y^r x^{n-pr}}{r!(n-pr)!}, \quad (1.1)$$

2010 *Mathematics Subject Classification.* 33C45, 34A25, 44A45, 33C50, 33C80.

Key words and phrases. Gould Hopper polynomials; Chebyshev polynomials, operational calculus; generating functions; Hermite-Chebyshev polynomials of 2 variables.

These polynomials are usually defined by the generating function [10,p.58,(6.3)]

$$e^{xt+yt^p} = \sum_{n=0}^{\infty} H_n^{(p)}(x, y) \frac{t^n}{n!}, \quad (1.2)$$

and reduce to the ordinary Hermite polynomials $H_n(x)$ (see [1]) when $p = 2, y = -1$ and x is replaced by $2x$.

We draw attention to familiar generating relations given by

$$(1 - 2xt + t^2)^{-\frac{1}{2}} = \sum_{n=0}^{\infty} P_n(x)t^n, \quad (1.3)$$

where $P_n(x)$ is Legendre's polynomial of first kind.

$$(1 - 2xt + t^2)^{-1} = \sum_{n=0}^{\infty} U_n(x)t^n, \quad (1.4)$$

where $U_n(x)$ is Chebychev polynomial of second kind.

$$(1 - 2xt + t^2)^{-\nu} = \sum_{n=0}^{\infty} C_n^{\nu}(x)t^n, \quad (1.5)$$

where $C_n^{\nu}(x)$ is Gegenbauer's polynomial.

$$(1 - mxt + t^m)^{-\nu} = \sum_{n=0}^{\infty} h_{n,m}^{\nu}(x)t^n, \quad (1.6)$$

$$h_{n,m}^{\nu}(x) = \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(-1)^k (\nu)_{n+(1-m)k} (mx)^{n-mk}}{k!(n-mk)!},$$

where $h_{n,m}^{\nu}(x)$ is Humbert polynomial and m is a positive integer. The Pochhammer symbol $(a)_n$ is defined by

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1 & \text{if } n = 0 \\ a(a+1)(a+2) \cdots (a+n-1) & \text{if } n = 1, 2, 3 \cdots \end{cases}$$

In 1965, Gould [11] gave the following generating relation

$$(c - mxt + yt^m)^p = \sum_{n=0}^{\infty} P_n(m, x, y, p, c)t^n, \quad (1.7)$$

where m is a positive integer and other parameters are unrestricted in general. $P_n(m, x, y, p, c)$ is defined explicitly by [11, p.699]

$$P_n(m, x, y, p, c) = \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \binom{p}{k} \binom{p-k}{n-mk} c^{p-n+(m-1)k} y^k (-mx)^{n-mk}. \quad (1.8)$$

In 1989, Sinha [20] gave the following generating relation

$$[1 - 2xt + t^2(2x-1)]^{-\nu} = \sum_{n=0}^{\infty} S_n^{\nu}(x)t^n, \quad (1.9)$$

where

$$S_n^\nu(x) = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^k (\nu)_{n-k} (2x)^{n-2k} (2x-1)^k}{k!(n-2k)!}, \quad (1.10)$$

$S_n^\nu(x)$ is the generalization of Shrestha polynomial $S_n(x)$ (see [15]).

In 1991, Milovanović and Djordjević [16](see also [17]) gave the following generating relation

$$(1 - 2xt + t^m)^{-\lambda} = \sum_{n=0}^{\infty} p_{n,m}^\lambda(x) t^n, \quad (1.11)$$

where $m \in \mathbb{N}$ and $\lambda > -\frac{1}{2}$ and

$$p_{n,m}^\lambda(x) = \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(-1)^k (\lambda)_{n-(m-1)k} (2x)^{n-mk}}{k!(n-mk)!}. \quad (1.12)$$

It is to be noted that the polynomials represented by $p_{n,1}^\lambda(x)$, $p_{n,2}^\lambda(x)$ and $p_{n,3}^\lambda(x)$ are known as Horadam polynomials [12], Gegenbauer polynomials and Horadam-Petche polynomials [13], respectively.

In particular in 1997, Pathan and Khan [15,p.54] generalized these polynomials and gave the following generating relation

$$\begin{aligned} [c - ax + bt^m(2x-1)^d]^{-\nu} &= \sum_{n=0}^{\infty} p_{n,m,a,b,c,d}^\nu(x) t^n \\ &= \sum_{n=0}^{\infty} \Theta_n(x) t^n, \end{aligned} \quad (1.13)$$

where

$$\Theta_n(x) = \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(-1)^k c^{-\nu-n+(m-1)k} (\nu)_{n+(1-m)k} (ax)^{n-mk} [b(2x-1)^d]^k}{k!(n-mk)!}. \quad (1.14)$$

In this paper, we consider Chebyshev polynomials of 2-variables by means of the following generating function

$$(1 - 2xt - yt^2)^{-1} = \sum_{n=0}^{\infty} U_n(x, y) t^n, \quad (1.15)$$

which reduces to ordinary Chebyshev polynomials when $y = -1$ and x is replaced by $2x$ and has the series representation

$$U_n(x, y) = \sum_{s=0}^{\lfloor \frac{n}{2} \rfloor} \frac{y^s (n-s)! x^{n-2s}}{(n-2s)! s!}. \quad (1.16)$$

2. On Hermite and Chebyshev polynomials of 2-variables

This section gives some properties of Hermite and Chebyshev polynomials of 2 variables. We start with the following theorem.

Theorem 2.1. For $k \in \mathbb{N}$, we have

$$\sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(ky)^s (kx)^{n-ms}}{s!(n-ms)!} = \sum_{n_1+n_2+\dots+n_k=n} \frac{H_{n_1}^m(x, y) H_{n_2}^m(x, y) \cdots H_{n_k}^m(x, y)}{n_1! n_2! \cdots n_k!}. \quad (2.1)$$

Proof. Consider the generating function (1.2), we have

$$\begin{aligned} e^{kxt+kyt^m} &= \sum_{n=0}^{\infty} \frac{(kxt)^n}{n!} \sum_{s=0}^{\infty} \frac{(kyt^m)^s}{s!} \\ &= \sum_{n=0}^{\infty} \sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(ky)^s (kx)^{n-ms}}{s!(n-ms)!} t^n. \end{aligned} \quad (2.2)$$

On the other hand from (1.2), we get

$$\begin{aligned} [e^{xt+yt^m}]^k &= \left[\sum_{n=0}^{\infty} H_n^m(x, y) \frac{t^n}{n!} \right]^k \\ &= \sum_{n=0}^{\infty} \sum_{n_1+n_2+\dots+n_k=n} \frac{H_{n_1}^m(x, y) H_{n_2}^m(x, y) \cdots H_{n_k}^m(x, y)}{n_1! n_2! \cdots n_k!} t^n. \end{aligned} \quad (2.3)$$

Comparing the coefficients of t^n in equations (2.2) and (2.3), we arrive at the desired result (2.1). \square

Remark 2.1. On setting $x = 2x$, $y = -1$ and $m = 2$ in equation (2.1), the result reduces to known result of Batahan et al. [2,p.50.Eq.(2.1)].

Theorem 2.2. For $k \in \mathbb{N}$, we have

$$\sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(ky)^s (k(x_1 + x_2 \cdots x_k))^{n-ms}}{s!(n-ms)!} = \sum_{n_1+n_2+\dots+n_k=n} \frac{H_{n_1}^m(x_1, y) H_{n_2}^m(x_2, y) \cdots H_{n_k}^m(x_k, y)}{n_1! n_2! \cdots n_k!}. \quad (2.4)$$

Proof. Consider the generating function (1.2), we have

$$\begin{aligned} e^{kk(x_1+x_2 \cdots x_k)t+kyt^m} &= \sum_{n=0}^{\infty} \frac{(k(x_1 + x_2 \cdots x_k)t)^n}{n!} \sum_{s=0}^{\infty} \frac{(kyt^m)^s}{s!} \\ &= \sum_{n=0}^{\infty} \sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(ky)^s (k(x_1 + x_2 \cdots x_k))^{n-ms}}{s!(n-ms)!} t^n. \end{aligned} \quad (2.5)$$

On the other hand from (1.2), we get

$$\begin{aligned} [e^{(x_1+x_2 \cdots x_k)t+yt^m}]^k &= \left[\sum_{n=0}^{\infty} H_n^m(x_1 + x_2 \cdots x_k, y) \frac{t^n}{n!} \right]^k \\ &= \sum_{n=0}^{\infty} \sum_{n_1+n_2+\dots+n_k=n} \frac{H_{n_1}^m(x_1, y) H_{n_2}^m(x_2, y) \cdots H_{n_k}^m(x_k, y)}{n_1! n_2! \cdots n_k!} t^n. \end{aligned} \quad (2.6)$$

Combining (2.5) and (2.6) gives (2.4). \square

Remark 2.2. On Letting $x_1 + x_2 \cdots x_k = 2(x_1 + x_2 \cdots x_k)$, $y = -1$ and $m = 2$ in equation (2.4), the result reduces to known result of Batahan et al. [2,p.51.Eq.(2.4)].

Theorem 2.3. For $k \in \mathbb{N}$, we have

$$\sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(-y)^s (k)_{n-s} (2x)^{n-ms}}{s!(n-ms)!} = \sum_{n_1+n_2+\dots+n_k=n} \frac{U_{n_1}^m(x, y) U_{n_2}^m(x, y) \cdots U_{n_k}^m(x, y)}{n_1! n_2! \cdots n_k!}. \quad (2.7)$$

Proof. Using the power series of $(1 - 2xt + yt^m)^{-k}$ and making the necessary arrangements gives

$$\begin{aligned} (1 - 2xt + yt^m)^{-k} &= \sum_{n=0}^{\infty} \frac{(k)_n}{n!} (2xt - yt^m)^n \\ &= \sum_{n=0}^{\infty} \sum_{s=0}^{\lfloor \frac{n}{m} \rfloor} \frac{(-y)^s (k)_{n-s} (2x)^{n-ms}}{s!(n-ms)!} t^n. \end{aligned} \quad (2.8)$$

In addition to this, we can write

$$\begin{aligned} (1 - 2xt + yt^m)^{-k} &= ((1 - 2xt + yt^m)^{-1})^k = \left[\sum_{n=0}^{\infty} U_n^m(x, y) t^n \right]^k \\ &= \sum_{n=0}^{\infty} \sum_{n_1+n_2+\dots+n_k=n} \frac{U_{n_1}^m(x, y) U_{n_2}^m(x, y) \cdots U_{n_k}^m(x, y)}{n_1! n_2! \cdots n_k!} t^n. \end{aligned} \quad (2.9)$$

Combining (2.8) and (2.9) gives (2.7). \square

Remark 2.3. On setting $y = 1$ and $m = 2$ in equation (2.7), the result reduces to known result of Batahan et al. [2,p.52.Eq.(2.7)].

3. Generalized Hermite-Chebyshev polynomials of 2-variables

Here, we consider the generalized Hermite-Chebyshev polynomials of 2 variables ${}_H U_n^m(x, y)$ by

$${}_H U_n^m(x, y) = \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{y^k (n - mk + k)! (2)^{n-mk}}{k!(n - mk)!} H_{n-mk}^m(x, y) \quad (3.1)$$

From (3.1), we can write that

$$\sum_{n=0}^{\infty} {}_H U_n^m(x, y) t^n = \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{y^k (n - mk + k)! (2)^{n-mk}}{k!(n - mk)!} H_{n-mk}^m(x, y) t^n.$$

Replacing n by $n + mk$, we get

$$\sum_{n=0}^{\infty} {}_H U_n^m(x, y) t^n = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{y^k (n - k)! 2^n}{k! n!} H_n^m(x, y) t^{n+mk}.$$

Summing k -series, we get the following generating function for the generalized Hermite-Chebyshev polynomials of 2 variables

$$\sum_{n=0}^{\infty} {}_H U_n^m(x, y) t^n = (1 - yt^m)^{-1} \sum_{n=0}^{\infty} \left(\frac{2t}{1 - yt^m} \right)^n H_n^m(x, y). \quad (3.2)$$

In the above equation, we obtain explicit representation for the generating function of Hermite-Chebyshev polynomials of 2 variables in the form

$$\sum_{n=0}^{\infty} {}_H U_n(x) t^n = (1 - 4xt + yt^m)^{-1} {}_2F_0 \left[\frac{1}{2}, 1; -; \frac{16yt^m}{(1 - 4xt - yt^m)^2} \right]. \quad (3.3)$$

When $m = 2$, $y = -1$ and x is replaced by $2x$ then (3.2) gives a known result of Batahan and Shehata [2,p.53(3.2)].

$$\sum_{n=0}^{\infty} {}_H U_n(x) t^n = (1 + yt^2)^{-1} \sum_{n=0}^{\infty} \left(\frac{2t}{1 + yt^2} \right)^n H_n(x). \quad (3.4)$$

Remark 3.1. For $y = -1$, $m = 2$ in equation (3.4), the result reduces to known result of Batahan and Shehata [2,p.53(3.3)].

The following theorem presents a representation for the Hermite-Chebyshev polynomials of 2 variables and reduces to the operational rule.

Theorem 3.1. The Hermite-Chebyshev polynomials of 2 variables satisfy the following representation

$${}_H U_n^m(x, y) = \exp \left(\frac{y}{4} \frac{d^m}{dx^m} \right) U_n(2x). \quad (3.5)$$

Proof. From (3.1), we get

$$\begin{aligned} {}_H U_n^m(x, y) &= \sum_{k=0}^{\lfloor \frac{n}{m} \rfloor} \frac{y^k (n - mk + k)! (2)^{n-mk}}{k! (n - mk)!} H_{n-mk}^m(x, y) \\ &= \exp \left(\frac{y}{4} \frac{d^m}{dx^m} \right) U_n(2x). \end{aligned}$$

□

Remark 3.2. For $y = -1$ and $m = 2$, in equation (3.5), the result reduces to known result of Batahan et al[2,p.54,Eq.(3.5)].

REFERENCES

- [1] L. C. Andrews, Special functions for engineers and mathematicians, Macmillan Co. New York, 1985.
- [2] R. S. Batahan and A. Shehata, Hermite-Chebyshev polynomials with their generalization form, J. Math. Sci. Adv. Appl., 29(2014), 47-59.
- [3] G. Datolli, Bilateral generating functions and operational methods, J. Math. Anal. Appl., 269(2002), 716-725.
- [4] G. Datolli, Generalized polynomials, operational identities and their applications, J. Comput. Appl. Math., 118(2000), 111-123.
- [5] G. Dattoli, S. Lorenzutta and C. Cesarano, Generalized polynomials and new families of generating functions, Ann. Univ. Ferrara-Sez. VII-Sc. Math., XLVII (2001), 57-61.
- [6] G. Dattoli, S. Lorenzutta, G. Maino and A. Torre, Generalized forms of Bessel functions and Hermite polynomials, Ann. Numer. Math., 2(1995), 221-232.
- [7] G. Dattoli, S. Lorenzutta, A. M. Mancho and A. Torre, Generalized polynomials and associated operational identities, J. Comput. Appl. Math., 108(1999), 209-218.
- [8] G. Dattoli, A. Torre and M. Carpanese, Operational rules and arbitrary order Hermite generating functions, J. Math. Anal. Appl., 227(1998), 98-111.
- [9] G. Dattoli, A. Torre and S. Lorenzutta, Operational identities and properties of ordinary and generalized special functions, J. Math. Anal. Appl., 236(1999), 399-414.
- [10] H. W. Gould and A. T. Hopper, Operational formulas connected with two generalizations of Hermite polynomials, Duke Math. J., 29(1962), 51-63.
- [11] H. W. Gould, Inverse series relation and other expansions involving Humbert polynomials, Duke Math. J., 32(1965), 697-711.

- [12] A. Horadam, Gegenbauer polynomials revisited, *The Fibonacci Quart.*, 23 (1985), 295-299, 307.
- [13] A. Horadam and S. Pethe, Polynomials associated with Gegenbauer polynomials, *The Fibonacci Quart.*, 19(1981), 393-398.
- [14] G. S. Khammash and A. Shehata, A study on some properties of Legendre polynomials and integral transforms, *Int. J. Open Problems Compt. Math.*, 5(2)(2012), 1-6.
- [15] M. A. Pathan and M. A. Khan, On polynomials associated with Humberts polynomials, *Publ. Inst. Math.*, (Beograd), 62(76)(1997), 53-62.
- [16] G. V. Milovanović and G. B. Djordjević, On some properties of Humberts polynomials-I, *Fibonacci Quart.*, 25(1987), 356-360
- [17] G. V. Milovanović and G. B. Djordjević, On some properties of Humberts polynomials-II, *Facta Universitatis (Nis) Math. Inform.*, 6(1991), 23-30.
- [18] H. S. P. Srivastava, On Jacobi polynomials of several variables, *Int. Trans. Spec. Funct.*, 10(1)(2000), 61-70.
- [19] H. S. P. Srivastava, Some generating function relations of multi-index Hermite polynomials, *Math. Comput. Appl.*, 6(3)(2001), 189-194.
- [20] S. K. Sinha, On a polynomial associated with Gegenbauer polynomials, *Proc. Nat. Acad. Sci., India*, 59 (A):III (1989), 439-455.

WASEEM A. KHAN

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, INTEGRAL UNIVERSITY, LUCKNOW-226026,,
INDIA

Email address: waseem08.khan@rediffmail.com